16 6 4 10 10

2kg
TDN
1 2 3 4 5 6 7 8
05110 | 15
05 ] 101 15
20 20] 20| 20| 20
20 20] 20| 20| 20
05|10 15| 15| 15
05110 10| 10] 10
02]02]02]o02
TDN71.5 CP18.5 1 3
TDN70.0 CP15.5
1kg 3 65.3+ 11.87 61.1+ 10.09
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110 -0— 5 5
100 L
90
80
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40cm

45.0
40.0
350
300
250
20.0
15.0
10.0

50

T

0.0

2kg

5.9kg

2kg

4.3kg

7000
6000
5000
4000
3000
2000
1000

7000
6000
5000
4000
3000
2000
1000

TDN

69

50
61

80
70
60
50
40
30
20
10

CP

66

TDN

50
57

80
70
60
50
40
30
20
10

100

TDN
100
CP
100
TDN
100
100
2kg
TDN CP
CP
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DM
100
100
100
100
DM
100
CP
100



DM TDN cP DM TDN cP
92.3 94.7 89.0 169.6 1240 1435
109.9 106.8 1009 1411 1183 1094
1156 108.0 96.2 124.0 1108 105.1
108.9 99.6 96.7 105.6 105.2 95.2
1109 985 97.0 103.8 101.8 99.0
1105 97.3 100.8 975 954 99.0 1)
DG 2)
1.30
120 | o 3)
110 | ==
ka/ 100
090 r
080
0.70
-1 -2 3 -4 -5 -6 -7 -8
DG
DG
DG
2kg
TDN
2kg
200kg 6 7
100
2kg 200kg
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2kg

18 69
2000

75 1968



